do/dM [pb/GeV]

Ratio to ATLAS

[HEN

1

=
<

107

[EEY

13000 GeV pp

Z+|Jet

— | e
- s 1 C
B Dijet mass (p_> 30 GeV, ly| < 2.5, m> 40 GeV) 12
= =
— 0
— —JN
— N
_ 1
L -
i
— ..-""~.... _OHO
= AR Ho
— o
= e
— 1M
— Y
— —™
L o
o
(49)
— e —
~ m  ATLAS | 13
— —A— Pythia6.428370 | | 1
| —&— Pythia 8.308 default . =
=~ ¢ Sherpa 1.4.5 default: ! = 3
— : : : =)
- 13
— ; 1=
- : | o
| | , | | - | | , | | | -

: T T T T | T T T T |:
— -2
1

* ‘ —0.5
RS N 3 A o

500 1000

M(leading, second jet) [GeV]



	Contents
	Page 1


